}gﬂoécﬁ-\f pf&dwé’ ane Eo#omv_ )r

Fa@{b(r“nc] Ek‘Fng‘y"o’U' W% (dMMmq Qcﬂ:/‘*s /%.&\
<

[ l&x*/@y: L—ﬁJ(QX‘I‘?y)

) f%XQ- Sx = X(?X ,_5‘>

5. fabe ~12ab = Yab(Ae - 3)
6 318y = 3y (y+ 6
AR A O
0 33 -2 = I} (3.-2)

(200 1gak 9, gy (s “hey
G ~
QL+

(5. [Ox+l5 = 5‘(;2)(7,3>

[ ). amn~/1 = /}[Qﬂq_m

/)

Yoo do 10,3123 DS gn He bocos



37 {Q\X3~é\(Q+;>ﬁ = éx(axa“‘x +£/>

ao{ acfx?y- [%}fgy + (aXQyD\

—

= éxg\y (?XQ-%X + Q),)

SlAS, S, — g R R s

n*gmm

=S (523, o)

X |

— XT)\‘?(‘#XT-XT/:(_/é
RRERTE 22
?X' ’f‘a: ?é
X+ |
I = 4y
zc:z)(f&()(-'ot?éj T 7

= (f

o “"Le_ a[‘ﬂ',e/z%b/zf Cve //cm o0 /20m

o Loty o)y
= [orb) (x+y)

b) % (x-2) ;3 ( 2) - (x——g\)[ma)



%, 3 @f\/}o/h fon p(j._, O)W'LC PD LEO

— )
6. X(ax"fg) . Qx?\#“ S X

/T\]
[O. ﬁ&X(gX+ 5\;) = ’“éxg\ "’/OX),

L& =1

- (e i) <G -

"‘“é?ntgﬂg »r%éf% 1KD”?k’3x + [
3 L .

= X+ x4+ 2 ><2-7)c+/§\

{/(\(\8’]'

Outside

T neide

[ ost m
m ﬂ £

9 (x@ A (£410) (€ -10)
~ N
2



